6 BBEEH (13E5)
(1) 2FEQISEHDHDRESR

SH6 & S5 5 HiEE R E (%)
B EER GEYR B8 REHR GER| % RER GEH 68 REHR EEK
€ =  #| 822 18 915 851 18 924 -29 9 34 1.0
® B B/ 13 15 12 1 14 1 -1 1] 8.3 -100.0 | 7.1
ERE (%) 1.6 16 14 56 15

F WEBRIZ UAAES EHENSEESG. ) UE. Ao, KEHYORKIZLHLEHEM LTFRL. )
(2) R Bl FE AR

5 5
N 4 s e
% et 2 AN . %
e i —— ]
0~2 | 2~4 | 4~6 | 6~8 |8~10[10~12|12~14|14~16[16~18[18~20|20~22|22~24
EEmEEH| 0 0 0 0 0 0 0 0 0 0 0
—o— 5% 1 3 1 1 4 0 0 0 0 0 2 )
(3) ERMIRAIFELE KRR
X4 S 6 & S5 EF I R E (%)
B EER GEHR B8 REHR GER| 4% EER GEHR 68  REHR EEXK
& B £ F &% 13 15 12 1 14 1 -1 1] 8.31-100.0] 7.1
B 5 5 6 3 3 2 3 66.7 100.0
g 0 i 1 1 3 3 -2 -2 | -66.7 -66.7
= it 6 7 6 6 1 16.7
BRE (%) 46.2 46.7  50.0 42.9
X E &R 5 6 1 2 4 4 400.0 200.0
h - D 1 1 1 1
E R % 1 1 5 1 6 -4 = -5 1-80.0 [-100.0 ' -83.3
4) EHERAFELEKRR
=4 SHM6E S5 E =g 1R (%)
T REK GER 4B REHR GER| 4% RER SEH 4N RER B5EHK
Bl & E &% 13 15 12 1 14 1 =] 1] 8.3.-100.0] 7.1
NS £ 1 1 1 1
BEEXER 2 2 2 2
I ES 1 1 1 2 -1 -50.0
=B % 4 5 3 5 1 33.3
i H & L EE 4 5 4 4 1 25.0
HWE £
Bz o # 2 2 -2 -2 1-100.0 -100.0
£t 9 11 10 13 -1 -2 | -10.0 -15.4
EERE 1 1 2 1 1 -1 -1 -50.0 [-100.0
5] E3
(5) LEFAFBEKR
R4 S 6 F S5 EF IR R E (%)
LEEH FEN HER LS5 Y TER SEN |25 BREYN SEH 4By BER 5B
BB 2 E & 13 15 12 1 14 1 -1 1 8.3/-100.0 7.1
zE & & 3 4 2 2 1 2 50.0 100.0
5 B #F 2 2 2 -2 1-100.0 -100.0
o ) 10 11 8 1 10 2 -1 1 25.0 -100.0 10.0
(6) LEHFBEHFELERNR
R4 SH6 & S5 HF 1R B E (%)
LEEH FEN GEN SBEY TEN SEN |25 BREYN SEH 455y TER 5B
BB 2 E & 13 15 12 1 14 1 -1 1 8.3/-100.0 7.1
B B &5 11 13 9 12 2 1] 222 8.3
= B 2 2 3 1 2 -1 =] -33.3 [-100.0
EE




